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1. Introduction
With the introduction of D2D, for UE supporting both D2D and D2N, the impacts between D2D and D2N should be analyzed. In this contribution, we will discuss this issue and give our preference.
2. Discussion
2.1. Glitch issue for D2D/D2N switching
In RAN2#83 meeting, it was agreed that:
	We assume that D2D direct communication cannot be restricted to a dedicated carrier, i.e., D2D direct communication may appear on the same carrier as regular LTE. FFS how the NW can control (in particular for UEs in coverage) which resources they use for D2D communication.


From the above agreement, it is obvious that the D2D and D2N can share the same carrier or use dedicated carrier. The glitch issue can be discussed case by case:
Case1:  D2D transmission uses different RF chains from D2N transmission.
In this case, since D2D transmission uses dedicated RF chain, no glitch issue will appear.
Case2:  D2D transmission shares the same RF chain as D2N transmission.
      Case2.1:  D2D/D2N transmissions share the same RF chain, and use same carrier frequency.
In this case, since D2D/D2N use the same carrier frequency, when D2D/D2N switching happens, RF retuning is not needed. Thus there is no glitch issue.
     Case2.2:  D2D/D2N transmissions share the same RF chain, but use different carrier frequencies.
In this case, glitch issue may exist if D2D/D2N switching needs RF retuning, which is similar as the SCell addition in CA scenario. The RF retuning can be depicted in the following Figure1:
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                                      Figure1. RF retuning due to D2D/D2N switching
For Case2.2, according to the discussion on glitch issue of CA, the RF retuning includes two parts [1]:
· Frequency/bandwidth adjustment: For FDD, the time used for frequency/bandwidth switching is 2ms; for TDD, it is assumed to be 1ms.
· AGC adjustment: It needs three rows of CRS, which means for non-MBSFN subframe, one subframe is enough; while for MBSFN subframe, three subframes are needed.
If the same frequency/bandwidth adjustment and AGC adjustment procedures are applied to D2D/D2N switching, gap between D2D and D2N transmissions should be introduced.  For FDD, the minimum gap is 3ms and the maximum gap is 6ms and while for TDD, the minimum gap is 2ms and the maximum gap is 5ms.
Proposal 1: Suggest RAN2 to discuss whether the gap due to D2D/D2N switching should be considered in Rel-12.
Proposal2: If the gap due to D2D/D2N switching should be considered, send LS to RAN4 to ask for the gap length.
2.2. D2D/D2N collision
As it was agreed that D2D transmission will use the uplink subframe of D2N network, if D2D and D2N shares the same carrier frequency, there may be D2D/D2N transmission collision, listed below:
· 1)  D2N PUSCH transmission collides with D2D transmission
· 2)  D2N PRACH transmission collides with D2D transmission
· 3)  D2N PUCCH transmission collides with D2D transmission
· 4)  D2N SRS transmission collides with D2D transmission
· 5)  D2N UL SPS transmission collides with D2D transmission
For 1), since the PUSCH initial transmission and retransmission can be controlled by eNB implementation, thus if the eNB can predict it may collide with D2D transmission, it can prohibit the PUSCH transmission in advance.
For 2), RA can be classified into CFRA and CBRA. CFRA can be controlled by eNB implementation to avoid collision with D2D transmission. But for CFRA, it may be collide with D2D transmission.
For3), 4) and 5), since the PUCCH/SRS/SPS configuration is periodical, it is difficult to avoid the collision between D2D and D2N transmission.
Observation: It is inevitable that D2D and D2N transmission may collide.
Regarding to the D2D and D2N transmission collision, RAN1 has the following working assumption:
· In the event of a time domain conflict between UL WAN transmission and D2D transmission and/or reception and/or switching, UL WAN transmission is always prioritized
From the perspective of RAN2, it is reasonable to follow RAN1’s working assumption.
Proposal3: When D2D collides with D2N, D2N transmission should be prioritized.
3. Conclusion

According to the analysis in section 2, it is proposed:
Proposal 1: Suggest RAN2 to discuss whether the gap due to D2D/D2N switching should be considered in Rel-12.
Proposal2: If the gap due to D2D/D2N switching should be considered, send LS to RAN4 to ask for the gap length.

Proposal3: When D2D collides with D2N, D2N transmission should be prioritized.
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